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1. Summary
In current 23.502, there is following description on when NG-RAN node would initiate a NG based handover
“This can be triggered, for example, due to new radio conditions or load balancing, if there is no Xn connectivity to the target NG-RAN, an error indication from the target NG-RAN after an unsuccessful Xn-based handover (i.e. no IP connectivity between T-RAN and S-UPF), or based on dynamic information learnt by the S-RAN.”
However, in current 38.423, there is no cause value which could indicate the there is no connectivity between T-RAN and S-UPF. 
During the offline discussion, there are two different views on the above issue

View1: Introduce a new cause value “no IP connectivity between T-RAN and S-UPF”in 38.423 to align with SA2 statement.
View 2: The statement is SA2 is not correct, the scenario that two NG-RAN node connect to the same 5GC while do not connect to the same 5G user plane should be a wrong configuration. 

Summary: There is no consensus on the above issue. However, the misalignment between SA2 spec and RAN3 spec should be resolved. How to resolve it is FFS

